Aide-mémoire

Grandpa has three daughters: Anne,

Béatrice and Chloé. He has six

grandchildren : four boys (Emile, Francois, ?
Gilles, Hector) and two girls (Iréne, ,% ”*
Jeanne). // //}, P
Grandpa cannot now remember the names e

of Béatrice’s children but, on the other \\

hand, he remembers clearly that

» of his three daughters, Béatrice has
the most children.

* Anne does not have a daughter

e Jeanne has two brothers and no
sister

* Iréne has no sister and no brother

» Gilles has a brother but no sister

« Emile has a sister. Hector has a
sister.

Help Grandpa to remember the names of
Béatrice’s children.




